DU MEd

Topic:- DU_J19_MED

1) Classification of Personality as Extrovert, Introvert and Ambivert was given by
TS, rHE! 3R SUTE F =u § Afdic $1 aifevr feam faam?
[Question ID = 746]

1. Spranger / TR [Option ID = 2982]
2. Kretchmer / $%¥R [Option ID = 2981]
3. Jung / ST [Option ID = 2984]

4. Sheldon / RIS [Option ID = 2983]

Correct Answer :-
« Kretchmer / $59¥R [Option ID = 2981]

2) Which of the following statements regarding Sarva Shiksha Abhiyan is incorrect?
T4 e Sifim & ey o Fafafaa § @ o9 a1 sy= Taq 82
[Question ID = 745]

1. Universal retention by 2010 / 2010 awqﬁaﬁa e [Option ID = 2979]

2. All children to be in school by 2003. / 2003 d& Tt = faemera # g1 [Option ID = 2977]

3. All children to complete eight years of schooling by 2009. / T+t §= 2009 d& 318 ITdl &1 faerTerdia Riem ot
&R | [Option ID = 2980]

4. All children to complete five years of primary schooling by 2007. / T+ §= 2007 % Ud ITd &1 Wi fRrem
T &R | [Option ID = 2978]

Correct Answer :-
« All children to be in school by 2003. / 2003 d&% Tt &= fa=mera & g1 | [Option ID = 2977]

3) Which of the following Curriculum Frameworks stressed the connectivity between ‘the basic
ethos and curricular pursuits in school education’?

fFrafafaa A 3 59 uregwat @ Twar 3 faadia Rier & g derr ik ureasa & v sia-
Tia= IR 9 faam?

[Question ID = 696]

1. National Curriculum Framework 2000 / T@H read] 1 OAT 2000 [Option ID = 2782]
2. National Curriculum Framework 2005 / XTSI UTGT=r 1 0T 2005 [Option ID = 2781]
3. National Curriculum Framework 1988 / ﬂ@ﬁmﬁ FUEI 1988 [Option ID = 2783]
4. National Curriculum Framework 1975 / 190 UTa=di 1 FURET 1975 [Option ID = 2784]

Correct Answer :-
o National Curriculum Framework 2005 / ?TQW &It &t TURAT 2005 [Option ID = 2781]



4) Which of the following cannot be called a pure behaviorist
fFafafaa % 9 52 3 U A TagRard! 78 T8 &1 aHdr 82
[Question ID = 749]

1. Edward Thorndike / TSdS YFSI8d [Option ID = 2994]
2. Albert Bandura / /e8¢ g1 [Option ID = 2995]

3. Ivan P. Pavlov / ECIERYE BICKIC] [Option ID = 2996]

4. John B. Watson / SIi-1 &1.aTca [Option ID = 2993]

Correct Answer :-
» John B. Watson / S dft.aredq [Option ID = 2993]

5) Which of the following are the assessment related mandates in RTE-2009?

1. No child admitted in school shall be held back in any class or expelled from school till completion
of elementary education.

2. Continuous and comprehensive evaluation of a child’s understanding of knowledge and his or her
ability to apply the same.

3. No child shall be required to pass any board examination till completion of elementary education
4. The quality of assessment practices adopted by the teachers need to be centrally evaluated.

SreffafEa § F19-3 FY RS -2009 & Gegicn | WHERIG TR 872

1. faemerg o ydt f=ft off arars/arfereT f wrafre Rien & w1 8F 9@ faareag 3 e T8 fear smam,
7 g Iaw! foredt wam | et S

2. T PP Bt TUH 3R ITB) AR HA DI TP &HAT BT, Tad 3R ATIS eATH |

3. fosft oft 7= &) wufires fR1em & @1 81 9@ SIS dis usie Sl ST %A Tl g

4. el gRT AR STHa-T YIS B UraT & HT Geaiw i AaRadar g1

[Question ID = 674]

1.1,2,3and 4/ 1,2,3 3R 4 [Option ID = 2694]
2.1,2 and 3/ 1,2 3R 3 [Option ID = 2695]
3.1,3and 4/ 1,3 3R 4 [Option ID = 2693]
4.1and 3/ 1 3R 3 [Option ID = 2696]

Correct Answer :-
« 1,3and 4/ 1,3 3R 4 [Option ID = 2693]

6) Which of the following pairing of a Maslowian need and a real-life example is incorrect?
fFrafafaa d ¥ $19 91 '9ReT $ agHdar NTaRafd® sita- # ISTe0r’ T g ITed 82
[Question ID = 750]

1. Love and Belongingness Needs, Need to be accepted by others / 7 3R fay ot TG I, Egﬂﬁ GRI WIHR
T S &1 3ra=aedr [Option ID = 2999]

2. Self-Actualization Need, Need to realize one’s potential / 3Td-Rifg D1 STaRIDHAT, (U &HAT BT 3IHT HAT
[Option ID = 2998]

3. Esteem Need, Being Competent and accomplishments / OfasT & HIARG D dI, H&HT 3R Iuafat [Option ID =
3000]



4. Physiological Need, Need to stay out of danger / R RIN® SHIIRY DI, G I TIER | DI 3MaRgdhdl [Option ID
= 2997]

Correct Answer :-

« Physiological Need, Need to stay out of danger / TRIRN® TIRTH T, WX ¥ T8 Ig- P ATGLIH T [Option
ID = 2997]

7) Which of the following refers to an intensive and in-depth study of one individual?

Frafafaa & ¥ o9 v safed o1 78 iR aafad-ga sieaas H1 &1 Jghia wwar 32
[Question ID = 671]

1. Case Study / P-3{&qg [Option ID = 2683]

2. Experimental Research / TORTIHS W‘Eﬂ:{ [Option ID = 2684]
3. Descriptive Research / U ST [Option ID = 2681]
4. Ethnography / Jd=ITaRM [Option ID = 2682]

Correct Answer :-

o Descriptive Research / JuiHTHS ST [Option ID = 2681]

8) Which of the following type of disability is not included in the RPWD Act 2016?
a. Acid Attack victim

b. Parkinson'’s disease

¢. Hemophilia

d. Sickle Cell disease

RPWD 3iftfSaw 2016 # g # T forw yoR @1 srqwdar affifera ) &t 1€ 82
a. - 3ATHHUT UifSa

[Question ID = 739]

1.a &b /a &b [Option ID = 2954]
2. None of these / AR Y ﬁ% T8l [Option ID = 2953]
3.b&c /b &c[Option ID = 2956]
4. c&d/c&d [Option ID = 2955]

Correct Answer :-

« None of these / 379 ¥ P13 =T8I [Option ID = 2953]

9) Which of the following is not a characteristic of the concrete-operational stage as conceptualized
by Piaget?

e o 3 ot s, WSl gRT defeud gd-afharaid awd1 &1 T fazivar g 82
[Question ID = 730]

1. Mastery of identity / UgdlH &1 Y4 [Option ID = 2918]
2. Classification / @ff&ur [Option ID = 2920]



3. Reversibility / Idca-Udes &t Aiwar (YRS [Option ID = 2919]
4. Abstract thinking / Giﬂjfﬁ?ﬁ [Option ID = 2917]

Correct Answer :-
« Abstract thinking / 3/ fea [Option ID = 2917]

10) Which of the following is not a characteristic of mean?
Frafafaa & ¥ o9 @ gaus 9t faRuar 78 32
[Question ID = 694]

1. it is used when the data is ordinal / ST ITANT 3THS HUG B TR fohdT STaT 8 [Option ID = 2774]
2. it is least affected by extreme scores / I8 Jdied THR F HH J HH YHIId 8IdT § [Option ID = 2773]
3. its value is always greater than the mode / SHT A, SHN Sgdid J Y BT & [Option ID = 2776]
4, the deviations at the mean is ‘Zero’ / AH IR ICENE R % [Option ID = 2775]

Correct Answer :-
« itis least affected by extreme scores / I8 aie TR I HH J HH UHIfId 8idT & [Option ID = 2773]

11) Which of the following is not the impact of Wood'’s Dispatch?
Fafafea 43 o9 g & T F1yuT T8 @2
[Question ID = 713]

1. Professional education was encouraged. / T e o1 Uiened fasar man| [Option ID = 2852]

2. Department of Public Instruction were abolished in all provinces. / Tt viat & grdeifie 313%{521? faumT @ a
R f&ar 1| [Option ID = 2849]

3. There was decrease in grant in aid. / JeTadT # 3I&H & HH &1 Mg | [Option ID = 2850]

4. Religious neutrality in education was observed. / fR1&T & e Terydr Tt TS| [Option ID = 2851]

Correct Answer :-
» Department of Public Instruction were abolished in all provinces. / it vl & wrewAe SHﬁ'QFT fqumT &t
T R f&a1 711 [Option ID = 2849]

12) Which of the following is not true for median?
frafafea & & S quie & g a8 T8 22
[Question ID = 687]

1. it is the middlemost value when data is arranged in an order / Sid frdt wu A Grﬂib% P! IR DI ST %, G
T8 AT Yo BT § [Option ID = 2745]

2. it is also called Percentile-50 / 3 Ufa=Tdid-50 +ff F7T ST § [Option ID = 2746]

3. it is used to find quartile deviation / 3TT IUANT Iqufer fa=ra Wiem & fog faar ST § [Option ID = 2747]

4. it is the most frequently occurring value / g Taq 3% IR g arar A %‘ [Option ID = 2748]

Correct Answer :-
« it is the middlemost value when data is arranged in an order / 5§ fft 8 H SIS Pt SHIRIT B ST §, N
I a9 Y e 8T § [Option ID = 2745]



13) Which of the following mentions in its Preface - "Government accords the highest priority to
education both as a human right and as the means for bringing about a transformation towards a
more humane and enlightened society.”

T & yareT § I fora T B - "WReR e 31, te Uy AfeR o e udia auT ugs gue
F1 3R URadq @M & W1 & ©U A ot urdfiear it 21"

[Question ID = 675]

1. Yashpal Committee Report / I=ATd FfHfd Ufdda [Option ID = 2697]

2. Kothari Commission / ISR 3{TIRT [Option ID = 2699]

3. Ramamurti Committee Report / TITIE%H&F% Pt ufcde [Option ID = 2698]

4. National Curriculum Framework (NCF-2005) / T8 UTg=idi 1 U@l (NCF-2005) [Option ID = 2700]

Correct Answer :-
« Yashpal Committee Report / IRUTd HfHfd Ufddad [Option ID = 2697]

14) Which of the following recognizes that “"Persons with Disabilities are valuable human resource
for the country and seeks to create an environment that provides them equal opportunities,
protection of their rights and full participation in society.”

Frafafaa & ¥ 19 g8 urd 2 % fawai safda 3w & e gegar ara wwmeE 8 ok T 39T araraRn
AT TR St I WHH 3a¥R, 9% USRI F Jram 3R Jure & gui yriterd we 1"

[Question ID = 668]

1. Right of Children to Free and Compulsory Education (RTE, 2009) / S=af & qUd 3R 3ifard e &1 SHfIeR
(RTE, 2009) [Option ID = 2671]

2. National Policy for Persons with Disabilities, 2006 / faeeiivT safekral & fere UK ifd, 2006 [Option ID = 2672]

3. The National Policy on Education, NPE-1986 (modified in 1992) / fRi&l tR g1y ifd, TS -1986 (1992 H
HNE) [Option ID = 2669]

4. The Persons with Disabilities (Equal Opportunities, Protection of Rights and Full Participation) Act, 1995 /
faemai fdd (T SR, TISHRT &1 A& R guf UFfteRy) SHffad, 1995 [Option ID = 2670]

Correct Answer :-

« The National Policy on Education, NPE-1986 (modified in 1992) / fRi&f &R gt ifd, TS -1986 (1992 #
F=MTE) [Option ID = 2669]

15) Which of these tests are projective tests?
a. Thematic Apperception Test

b. Rorschach Inkblot Test

c. Raven’s Progressive Matrices

d. Children’s Apperception Test

T gdieon & A HH-91 vad udamor 82
i. oo Juwaer udieor

iii. 2T BT TTEY-ereaT yeqor

iiii. YA & wArfa=iie 9

iv. IS BT AUl Tequr

[Question ID = 731]

1.a,b&c/a, b 3R ¢ [Option ID = 2922]



2.a,b,&d/a, b 3R d[Option ID = 2924]
3.a&d/ a 3R d [Option ID = 2923]
4. a &b/ a 3R b [Option ID = 2921]

Correct Answer :-
« a&b/a 3R b[Option ID = 2921]

16) Which of the concept is most closely linked with the idea of Lev Vygotsky’s theory of the ZPD
(Zone of Proximal Development)?

gﬁg%@ﬁﬁmmﬁaamﬂwa?ﬁs.ﬁsﬁ. (iU fasTa &1 &) & Ryt & e 3ifie Mdvear 4 g3t
?

[Question ID = 754]

1. Scaffolding / THTHIGET [Option ID = 3016]

2. Brain Storming / fd@RIaY / faaR-HY= [Option ID = 3015]

3. Mind Mapping / A% AMEUT / fdaR AME [Option ID = 3013]
4, Conservation / TR&UT [Option ID = 3014]

Correct Answer :-

« Mind Mapping / AT AFETT / foaR AFRE [Option ID = 3013]

17) Which type of intelligence in Gardner’s theory of Multiple Intelligence relates to ‘the ability to
think three-dimensionally’?

MR o1 TgEs iy gfs R # iy yoR 9t g, ‘A-smamft Jiem @1 emar &) a=ifd 82
[Question ID = 755]

1. Bodily-Kinesthetic Intelligence / mﬁﬁw—vﬁﬁéﬂg@ [Option ID = 3020]
2. Spatial Intelligence / LI IEES Tg’@' [Option ID = 3018]

3. Mathematical Intelligence / 0K §fg [Option ID = 3019]

4. Naturalist Intelligence / U fdaral §f& [Option ID = 3017]

Correct Answer :-
« Naturalist Intelligence / epfdarc! gf [Option ID = 3017]

18) Which one of the following is not a part of '‘Being needs' of an individual?
7 ¥ @ 7 e afda @50 g w10 U g 82
[Question ID = 759]

1. Empathetic Existence / S8TIHfe & [Option ID = 3035]

2. Self-actualization / 3TETIY(d [Option ID = 3036]

3. Aesthetic appreciation / Tiedary &rf\uw [Option ID = 3034]
4. Intellectual achievement / AfgF Iuarer [Option ID = 3033]

Correct Answer :-
« Intellectual achievement / Sifg® Iuafed [Option ID = 3033]



19) Which was the first comprehensive educational plan formulated by the CABE
CABE §RT dUR &1 T¥ Ugelt as e giern <&t
[Question ID = 733]

1. Gokhale's Bill / TTRadl &1 fa€des [Option ID = 2931]

2. Ramamurti Committee / TI'HE%H&F% [Option ID = 2932]
3. Sargent Report / Tofe UfddeH [Option ID = 2930]

4. Adam'’s Report / T8H &1 UfddeH [Option ID = 2929]

Correct Answer :-
« Adam’s Report / T8H &1 UfdacH [Option ID = 2929]

20) Albert Bandura developed a reciprocal determination model which consists of three main
factors that are:

JeTd TR A Uh RTINS eyt gfau fasRya foran forad &5 qe1 oo Afga g3 8 -
[Question ID = 758]

1. Curiosity, Insight, Exploration / fSIRITT, 3fdef®, 3AWUT [Option ID = 3030]

2. Behavior, Person / Cognitive, Environment / dgNR, fad / IS, dTdIaRUT [Option ID = 3029]
3. Observation, Environment, Experience / GﬁlFﬁﬁ, drdrarul, 34Hd [Option ID = 3032]

4. Observation, Learning, Insight / GIHFﬁT:Ff, 3Ty, NISEI [Option ID = 3031]

Correct Answer :-
« Behavior, Person / Cognitive, Environment / dgIR, fad / TAHTED, dTdTa0l [Option ID = 3029]

21) Tests in which scores are compared to a set performance standard are

THeror R sie) 1 1o B Te FuiiRa vexi= 9o d o w8 T @
[Question ID = 661]

1. Aptitude Tests / 31f¥&Har TR [Option ID = 2644]

2. Diagnostic Tests / G TRA&UT [Option ID = 2643]

3. Norm- Referenced tests / ATFh-TafHd TRI&for [Option ID = 2641]

4. Criterion- Referenced tests / Fy-Haftid TRI&0T [Option ID = 2642]

Correct Answer :-
« Norm- Referenced tests / AF®-Tgfd TI&T [Option ID = 2641]

22) When two independent coders code the same test and then compare scores, this is
W9 Q) WaF Thad THH TS0l BT Ybd 3N ITP a1 3] Pt a1 Hd 8 d@f T8
[Question ID = 735]

1. intercoder reliability / 3fdR-Tdrdd [d4T-TadT [Option ID = 2939]
2. intercoder validity / 3idR-Thae d&dT [Option ID = 2938]

3. dual reliability / gd fa%¥=1adT [Option ID = 2940]

4. dual code method / gd Tbd fafy [Option ID = 2937]



Correct Answer :-
« dual code method / d Tobd faf¥ [Option ID = 2937]

23) When an adolescent conforms to parental wishes without considering alternatives regarding
identity, it is called

mgﬁwﬂvw%aﬁﬁﬁmmﬁmm%&mﬁmaﬁwsﬁ%uﬁmﬁmﬁa‘rtrs'w
STt

[Question ID = 721]

1. identity diffusion. / Ugdld YR [Option ID = 2884]
2. foreclosure. /Elﬂﬁi‘c'l [Option ID = 2881]

3. alienation. / BT [Option ID = 2882]

4. moratorium. / U&= [Option ID = 2883]

Correct Answer :-
« foreclosure. / GRI&% [Option ID = 2881]

24) Identify the correct order of the steps in the creative thinking process:
IIATHS UihaT § Wl HH & UG BT Ugd B
[Question ID = 757]

1. Insight, Preparation, Evaluation, Incubation, Elaboration / &iﬂff@, &rrzﬂwr, H\?«EI'W, 3SCHITH, fowr [Option ID

2. I:Ia3t?02r§1ion, Evaluation, Preparation, Insight, Incubation / fOR, Hedidh, SIS, fd<f®, IS [Option ID

3. :r:s:rfa]tion, Insight, Incubation, Elaboration, Evaluation / &rrtﬂwr, Gi?l?ff@, ST, ﬁw, H\Eﬂ'cb_*f [Option ID

4, I:r:[())azé]tion, Incubation, Insight, Evaluation, Elaboration / 3{TaIoH, ST, 3id=fy, Hedid, faR [Option ID
= 3026]

Correct Answer :-
« Elaboration, Evaluation, Preparation, Insight, Incubation / ﬁw, W, W, 31?[%@, ST [Option
ID = 3025]

25) Approach which focused on analysis of component of consciousness is called
IUTTH, S AT & TP & fAzevor o1 Hfad g I8 1 o1 g
[Question ID = 725]

1. Structuralism / TXTATATG [Option ID = 2899]
2. Behaviorism / @ddgRdlq [Option ID = 2900]
3. Constructivism / Xd-TdIq [Option ID = 2897]
4, Functionalism / IERIRECI [Option ID = 2898]

Correct Answer :-
e Constructivism / Yd-dIq [Option ID = 2897]



26) NAEP (1978) stands for
NAEP (1978) fae® dféra wu g
[Question ID = 742]

1. None of these / 378 ¥ &S gl [Option ID = 2968]

2. National Adult Education Planning /QT@T{W&T&H@W [Option ID = 2966]

3. National Adult Education Programme / 3\1@?3[ TR e driHH [Option ID = 2965]

4. National Awareness towards Environmental Programme / JgiaRur HRIHH & Ufd ?1@?1 SFRs&dT [Option ID =
2967]

Correct Answer :-
« National Adult Education Programme / 181 g% fRI&fT SRishH [Option ID = 2965]

27) Certain practical recommendations are made in educational theory on the basis of its structure

which contains/ifér® figia § oo amagie dwgfaar, St sH$! \wAT # YR §418 18, s wwnfay &
[Question ID = 663]

1. assumptions about the desirability of ends, about the nature of society and about teacher’s knowledge and
teacher’s pedagogical methods. / *3{fa TR Ft aig-itaar, THS &t UHfa 3R ‘Ried & 4 Ud g ot
Qeifores fafiEal & 9 & SIGURUA | [Option ID = 2652]

2. assumptions about the desirability of ends, about the nature of children and about knowledge and pedagogical
methods. / “3{fcd TRUMH & g, ‘S & Uhia’ 3R ‘I Td et Al & IR & S/auRomd | [Option
ID = 2649]

3. assumptions about the desirability of positive results, about the nature of teacher’s knowledge in society and
about the selection of pedagogical methods. / THRIA® URUTH &1 aig-raar, ‘fRiefem! &1 THe | I &I
WS’ 3R "Qeifore At & T’ & IR & S@uURUA | [Option ID = 2651]

4. assumptions about the desirability of positive results, about the nature of society and about selection of
knowledge and teachers’ nature. / "GHRIAS TRUMH B GiS-10ar, "GHS &1 Upia’ 3R M Ud Rierw! & THg
& I’ & SR T HIYRUMT [Option ID = 2650]

Correct Answer :-
« assumptions about the desirability of ends, about the nature of children and about knowledge and

pedagogical methods. / *3ifaw gy St ais-aar, ‘o=t &1 uHfa 3R ‘I Ud e fafdal & IR o
S[@YRUME | [Option ID = 2649]

28) In addition to language, mathematics, natural sciences and social science, National Curriculum
Framework 2005 also recognizes the following areas of learning:

HTYT, T, Wi fae fagm= ok arfore A & sramar, Ity ureggal 3t Fwar 2005 Hew &
Frafafaa &= o +ff wr=ar &t o

[Question ID = 689]

1. Health and Physical Education; Work and Education; Education for Peace / ¥aIRYg 3R RIS ﬁl&ﬂ; Elv‘r!fqﬁ
fR1gm; =iy & forg fRrefm [Option ID = 2756]

2. Aesthetic Education; Work and Education; Education for Peace / Hieday IEAIR P Td fRram; =rifa & forg Rrem
[Option ID = 2755]

3. Aesthetic Education; Health and Physical Education; Work and Education / Aiedary fren 5 AR 3R RS
fRrefm; wrf ud e [Option ID = 2753]



4. Aesthetic Education; Health and Physical Education; Education for Peace / Hieday i%r&rr; WY 3R IRING
fRrem; =rifa & forg Rref [Option ID = 2754]

Correct Answer :-
« Aesthetic Education; Health and Physical Education; Work and Education / Sicdaly fRrefm; Tmea 3k Ikt
fRrerm; @1 wd & [Option ID = 2753]

29) According to Krishnamurti, the right kind of education, while encouraging the learning of a
technique, should help people to:

PSS F FR, TEt UHR B e o1, AT ao-iia! Hf Wiared 3d G099, A0l 31 e H- a1i:
[Question ID = 707]

1. Experience the beliefs of life / Sta &1 Argaretf & S{JHdI A H [Option ID = 2828]

2. Experience the dual process of life / Sfia- &1 qIgsl vforar &1 3THd & o [Option ID = 2826]

3. Experience the complicated processes of life / STia=T &t Sifed UfehaT3fl &1 3fgHd H= T [Option ID = 2825]
4. Experience the integrated process of life / Tdbldrd SIa- dI Ufehal T 3IHd B3 | [Option ID = 2827]

Correct Answer :-
« Experience the complicated processes of life / Sta @1 Sfcd UfshaTail &1 3IHT d=- H [Option ID = 2825]

30) According to Kohlberg, at what level is moral development completely internalized and not
based on others' standards?

?W%W,Wmmwwqﬁwﬁwﬁﬁmﬁﬁﬁ%qmﬁwmmmﬂﬁm
?

[Question ID = 726]

1. Preconventional / tlﬁtITEITP'IH [Option ID = 2901]
2. Post-conventional / U4-URHEIRIId [Option ID = 2903]
3. Conventional / TRERT [Option ID = 2902]

4, Justice / <1 [Option ID = 2904]

Correct Answer :-
e Preconventional / qﬁmﬁ [Option ID = 2901]

31) According to Karl Popper, experiments in science
P IR & AR, fag # wan
[Question ID = 704]

1. can disprove the theories. / RIGidl @ 7Tad Ri &R ¥dbd 1 [Option ID = 2814]
2. sometimes prove theories. / FHut-o i Rgial &1 g axd %I [Option ID = 2816]
3. prove the theories. / gt &I g v B [Option ID = 2813]

4. have no relation to theories. / Rigidl ¥ CAERIER] Tspf?{l [Option ID = 2815]

Correct Answer :-

« prove the theories. / Rigr=i &1 g & 1 [Option ID = 2813]



32) A good measure of Central tendency when scores are in ordinal scale will be?

FE Ugfy &1 /T TP 33T A1 § SF 3P HiAP Wb U gl
[Question ID = 666]

1. Mean / HHIA [Option ID = 2661]
2. Range / fa%R [Option ID = 2664]
3. Mode / Sigdii® [Option ID = 2663]
4, Median / §&1% [Option ID = 2662]

Correct Answer :-
e Mean / HYHIH [Option ID = 2661]

33) Operation Black Board was aimed at
ST AP IS BT I YT
[Question ID = 714]

1. providing Black Board in all classrooms. / it wemaft o RYMHYS Yald DTl [Option ID = 2853]

2. providing smart boards in all classes. / T+ e o W8S UG BT [Option ID = 2855]

3. providing Basic learning material for all children. / T sl & forq gfardl Riefor Srwdt Wa™ &A1l [Option ID
= 2854]

4. repainting black boards. / <H TS DI bR T Te BT [Option ID = 2856]

Correct Answer :-
« providing Black Board in all classrooms. / T $&ﬂ3ﬁﬁw Yald dRATI [Option ID = 2853]

34) With which of the following is the concept of Zone of Proximal Development associated?

o ¥ A frad ary afivy e & & 3t sauron 991 g5 82
[Question ID = 664]

1. Behaviorism / &4dgRdlq [Option ID = 2654]

2. Ethology / 3TARIASI [Option ID = 2655]

3. Psychoanalysis / TIRATOT [Option ID = 2656]

4. Social cognition / 1SS S [Option ID = 2653]

Correct Answer :-
« Social cognition / MHISId T3 [Option ID = 2653]

35) Mean is
AU 8
[Question ID = 680]

1. the statistical average in which all scores participate / qitg® Gﬁﬂﬁ, Sad gt R YT dd 8 [Option ID =
2720]

2. the most frequently occurring value / TR 3{fefh IR 314 ATdT e [Option ID = 2717]

3. the only measure of central tendency / Haid Ugfi &1 THHATA UK [Option ID = 2719]



4. a value that divides the data in two equal parts / Tch HIH, Eil m DI & SRR YT A fquIford sar %‘ [Option
ID = 2718]

Correct Answer :-
« the most frequently occurring value / T 31f¥e SR 3 dTAT G [Option ID = 2717]

36) Most frequently occurring number in a set of numbers is

HEmsii ¥ T T A gad e aR A arel HEm seard! @
[Question ID = 673]

1. range. / U8R [Option ID = 2692]

2. standard deviation. /Wﬁﬂ?ﬁ [Option ID = 2690]
3. median. / H&1P [Option ID = 2689]

4, mode. / 9gdi® [Option ID = 2691]

Correct Answer :-
 median. / AT [Option ID = 2689]

37) Languages are the medium through which most knowledge is constructed so a teacher must
remember that

HTYTE & ATeaH § a9 &1 9ad if¥res forafor farar simar @, st Rigre &1 wRor w@=1 9ty #t
[Question ID = 705]

1. all learners must learn in several possible mediums and ways. / 34t Rrenfifal o fafdy Aregst 3R Al 9
g A1igu | [Option ID = 2820]

2. all learners must learn to speak fluent English and other important languages. /it Rrenfiat @1 yarg-=fia
3ol 3R 37 Tgeayut yreraff # Sierr HiRaHT =feu ! [Option ID = 2817]

3. they must be given space in all knowledge systems and structures. / 3= Tt I ATt 3R TRF3N & M
fean ST =1fge | [Option ID = 2819]

4. they are closely tied to the thoughts and identity of the learners. / 3 faemy iR fRemaff & Ugd 4 Adear 9
&9 gU €1 [Option ID = 2818]

Correct Answer :-

« all learners must learn to speak fluent English and other important languages. / It Rrenffat &t garg-ha
3ol 3R 3T Heayul HrTafi H SierT YRa=T =1fgu| [Option ID = 2817]

38) Kothari Commission recommended what percent of GDP to be earmarked for education?
PSR AT A Rren & forg it & fvamt wfosma e &) Fuifva oo St agfa g 2
[Question ID = 709]

1. 5 [Option ID = 2836]
2. 10 [Option ID = 2833]
3. 20 [Option ID = 2834]
4. 6 [Option ID = 2835]

Correct Answer :-



« 10 [Option ID = 2833]

39) A standardized tool should be/U® UM Hd SUHVI §IHT AT
[Question ID = 685]

1. Valid and time bound / Y 3R THIdE [Option ID = 2740]

2. Periodic and testified / TTafYies 3R YHIFOM [Option ID = 2738]
3. Reliable and valid / fd%g-Tg 3R ¥ [Option ID = 2739]

4. Reliable and general / AT 3R FHET [Option ID = 2737]

Correct Answer :-
« Reliable and general / 34T 3R AT [Option ID = 2737]

40) “Diversity of stimulation means novelty, and novelty means challenge to thought” is the
statement given by to include and celebrate diversity in schools:

"Hieare $1 Rafdear o1 o @ e, 3R Fdi=ar &1 ord =R #) g 31 8" ug sy faared A fafdear
FT I A 3R IT! IfIfera e & forg ST f&ar T §:

[Question ID = 690]

1. Rabindra Nath Tagore / ey TR [Option ID = 2758]
2. Mahatma Gandhi / H&TeT el [Option ID = 2757]

3. John Dewey / S S1dT [Option ID = 2759]

4. Paulo Freire / 3l e [Option ID = 2760]

Correct Answer :-
* Mahatma Gandhi / HgTHT et [Option ID = 2757]

41) Rina is popular among her relatives and family friends for being very obedient and helpful. She
receives small tokens of appreciation from them which really pleases her. She is evidently at the
following Stage of Kohlberg’s theory of moral reasoning.

31, SUP Trafual 3k TRaR & i & 7 9gd e R} iR Her® g & e e 81 859 @ |
m%@%uﬁﬁéﬁmmaﬁ&m&nﬁﬁamél I¢ WYYl HIaaT] & AfdPp-ao RIgid o
frrafaf@a R w2l

[Question ID = 677]

1. Good Boy- Nice Girl Orientation / 38T TTShI-3fwd! ASH! IH@dT [Option ID = 2707]
2. Punishment-Obedience Orientation / GUS-3TRITTRdT I=@dT [Option ID = 2705]

3. Social Contract Orientation / HTHTfSTE 3JdY 3T [Option ID = 2708]

4. Personal Reward Orientation / W‘Iﬁwm [Option ID = 2706]

Correct Answer :-
e Punishment-Obedience Orientation / qUS-3{RITH e 3Ydl [Option ID = 2705]

42) Education ought to be for them (children) a kind of insurance against unemployment. Whose
viewpoint is this?



e 3% (a=) fore RS & fawg 9t g1 arfee) g8 fraer e i g2
[Question ID = 740]

1. Aristotle / 3R¥J [Option ID = 2960]

2. Rabindranath Tagore / Rfa=gTY SR [Option ID = 2957]
3. Mahatma Gandhi / HgldHl et [Option ID = 2958]

4. Pluto / WICT [Option ID = 2959]

Correct Answer :-
« Rabindranath Tagore / IfA5TY STR [Option ID = 2957]

43) Educational psychology possesses a well-organized systematic body of facts which is supported
by the

Qfére AfagE, 9] 1 ve Hafd Ao €, 5l fe gaffa g
[Question ID = 712]

1. Laws and principals of nature / Ufd & faW 3R RIgid §RT [Option ID = 2846]

2. Biological laws and principals / SIfd® & 3R Rieaid §RT [Option ID = 2845]

3. Guidance and counselling / TrieRi ok WAt gRT [Option ID = 2848]

4. Psychological laws and principals / HIdSTAd B 3R fYgid gRT [Option ID = 2847]

Correct Answer :-
» Biological laws and principals / WW 3R fyegid grRI [Option ID = 2845]

44) If a child is born deaf, he will face difficulty primarily in: /3R T d=l IR aaT ﬁ?IT %, 3T qsq
FUd B HISATS BT ATHAT BT UST:

[Question ID = 692]

1. Adapting biologically / Sfd@ ¥0 ¥ 3% [Option ID = 2768]

2. Going through Erikson’s stages / TREH &1 SraeTsfi 9 I[SRAT [Option ID = 2767]
3. Learning by language experience / HINI-3{JHd gRI STeATH [Option ID = 2766]

4. Relationship with parents / ATAT-OdT & 1Y ey [Option ID = 2765]

Correct Answer :-
» Relationship with parents / AIaT-OdT & 1Y ey [Option ID = 2765]

45) Who of the following said this "I am strongly of the opinion that women should have the same
facilities as men and even special facilities where necessary".

Frafaf@a 7 & fewm w1 & A 98 Teargde a8 f& afitarst ®1 ool & @ gfaumd ok ggi 0@ f&
fadiy gfaury, wiel emazas g1 fert =fRwl

[Question ID = 669]

1. S. Radhakrishnan / TH. TYTHWIA [Option ID = 2673]

2. Sri Aurobindo / 4t 3Rfd= [Option ID = 2676]

3. Mahatma Gandhi / H&TET il [Option ID = 2675]

4. Swami Vivekananda / TTH! fdd@ =< [Option ID = 2674]



Correct Answer :-
 S. Radhakrishnan / T¥. JUTH W[ [Option ID = 2673]

46) Who of the following emphasized that "If you do not raise the women who are living
embodiment of the divine mother, don't think that you have any other way to rise".

frafafea & & fram ga Iex ot f "afe snu Afkensit &) 78 I81d € =il faea Af &1 Areeq 3aaR §, @Y 98
7 guE P 3MUS UTY FHUR 369 BT 3 HIg °AFf 8" |

[Question ID = 662]

1. Rabindra Nath Tagore / Idi= =14 7R [Option ID = 2647]
2. Mahatma Gandhi / H&TET il [Option ID = 2645]

3. Shri Aurobindo / 8t 3Rfd=g [Option ID = 2648]

4. Swami Vivekanand / St fdd@Tg [Option ID = 2646]

Correct Answer :-
« Mahatma Gandhi / H&T&T Tieft [Option ID = 2645]

47) Who translated Binet test of Intelligence into English?
gfte & famie ¢we &1 SRish # ergare fam frar?
[Question ID = 717]

1. Lewis Madison Terman / gév ST e [Option ID = 2868]
2. John Dewey / i1 Sdl [Option ID = 2866]

3. Herman Ebbinghaus / FRGERUCHR [Option ID = 2867]

4. Leona Tyler / foraT TR [Option ID = 2865]

Correct Answer :-
« Leona Tyler / for@HT TR [Option ID = 2865]

48) Who believed that "Education is the development in the individual of all the perfection of which
he is capable”.

B9 AT o1 fop "fRiem 39 yular &1 safea # faery @ foraw 98 g 371
[Question ID = 676]

1. Froebel / ToI&d [Option ID = 2704]

2. Aristotle / 3R¥J [Option ID = 2702]

3. Kant / &ic [Option ID = 2701]

4, Pestalozzi / Tearoit [Option ID = 2703]

Correct Answer :-
« Kant / i [Option ID = 2701]

49) Who stated that "Children should never receive punishment as such, it should always come as
the natural consequence of their action".



fra w1 f "a= &) St it o T8 et T, ag eRwn @) erfarst & waruifae ufvomd & = u A
3T =1fge” |

[Question ID = 683]

1. Rousseau / g [Option ID = 2729]

2. Kilpatrick / f@dfea [Option ID = 2731]

3. Dewey / S1dl [Option ID = 2730]

4. Swami Dayanand / T G419+ [Option ID = 2732]

Correct Answer :-
« Rousseau / =4I [Option ID = 2729]

50) In Art Education, training of the hand and the eye is only a tool, the real objective is to build a:
a1 ot fRrem ®, 314 R AT BT URNEIUT Fad TH IUDRUT §, STBT IRATAP 334 3¢
[Question ID = 711]

1. creative, intelligent and sharp identity / XdTH®D, Tg,'@ﬂ'l‘l 3R PRI Ugdld DI fagfor [Option ID = 2844]

2. creative, confident and smart personality / YITHD, IMARIYY 3R 3MHYb Afddd BT AT [Option ID =
2843]

3. creative, productive and developed economic identity / IaTH®, IdTGH 3R f[AHRId e ugem 1 Rt
[Option ID = 2842]

4. creative, fulfilled and well-balanced personality / T, IRYU 3R et aRE F Tgferd fdaa &1 fAafor
[Option ID = 2841]

Correct Answer :-

« creative, fulfilled and well-balanced personality / YdTHD, qﬁqpf 3R IS R A Eﬂﬁ‘lﬁ faaa @1 fAafor
[Option ID = 2841]

51) Magna Charta of Indian Education was
R g &1 a9 wret a1
[Question ID = 723]

1. Macaulay Minute / A1 fire [Option ID = 2890]
2. None of these / T8 § ®Is gl [Option ID = 2892]
3. Adam’s Report / TeH &1 Ufddad [Option ID = 2891]
4. Wood's Dispatch / §8 @1 f&XUa [Option ID = 2889]

Correct Answer :-
« Wood’s Dispatch / §8 T f&¥Ua [Option ID = 2889]

52) Critical Consciousness
TS da-T
[Question ID = 697]

1. is untrue / W% [Option ID = 2788]



2. is helpful in critically examining the situation / ARG U ¥ U &1 o H7 | Ggis %‘ [Option ID =
2787]

3. seeks to bring critical awareness of individual / 3af&I® Hed & Ufd SITRedT 1T IT8dT & [Option ID = 2786]

4. seeks to uncover the ideological distortions of knowledge / I &t a=TR® fagfadl Bt ISR FHAT a18dT §
[Option ID = 2785]

Correct Answer :-

« seeks to uncover the ideological distortions of knowledge / I &t TR fAw Tl HI IWMR HAT dT8dT §
[Option ID = 2785]

53) Exchange of text, graphics and sound by two or more people (connected to the internet) at the
same time comes under

ammmzmﬁmmﬁﬁm,meﬁvwﬁ(ﬁﬁz%mm)mwﬁww
fafrma |

[Question ID = 679]

1. E-mail Communication. /ﬁ-ﬂaw [Option ID = 2715]

2. Asynchronous Communication. / SHPITD TR [Option ID = 2714]

3. Synchronous Communication. / GHBIIS AR [Option ID = 2713]

4. Non-Synchronous Communication. / R-gHPIS TaR [Option ID = 2716]

Correct Answer :-
« Synchronous Communication. / FH®IA® TAR [Option ID = 2713]

54) How much is the coefficient of Kurtosis in a normal probability curve.
TS TTHI WISl a6 § Helerd &1 Ui fHa-r grm|
[Question ID = 695]

1. 0.336 / 0.336 [Option ID = 2780]
2.0.263 / 0.263 [Option ID = 2777]
3.0/ 0 [Option ID = 2778]

4.0.363 / 0.363 [Option ID = 2779]

Correct Answer :-
e 0.263 / 0.263 [Option ID = 2777]

55) A type of physical disorder that involves lack of muscular coordination, shaking or unclear
speech is known as

TP UHR &1 RIS IR Soas #aiaufma) § g9-ag 1 S, S g1 3RYY Y90l gl §, C k)
H ST ST 8:

[Question ID = 756]

1. Articulation disorder / foaR-Hy= 3fredar [Option ID = 3023]
2. Epilepsy / R&UT [Option ID = 3022]

3. Cerebral Palsy / AR G&TETd [Option ID = 3024]

4. Down Syndrome / Eﬂtﬂﬁ?ﬂﬂ [Option ID = 3021]



Correct Answer :-
« Down Syndrome / $13 RigH [Option ID = 3021]

56) Hippocampus is found in

P # 9T ST @
[Question ID = 716]

1. Ecological settings / UTRRUfdd RITYT [Option ID = 2861]

2. Fossils / SIfar=HA [Option ID = 2864]

3. The circulatory system of a neonate / Tdh HduIld ﬁl‘ﬁ P! IR goIet [Option ID = 2863]
4. The human brain / T4 Hf&TSh [Option ID = 2862]

Correct Answer :-
« Ecological settings / TIiRfRfde RITTGT [Option ID = 2861]

57) Losing the chance to go to play with friends in a P.T period in school because you had damaged
a school window in the last period is an example of:

foemea A N8, Fam A Sl & 1Y e BT NPT T Jife 3y s wan # ey 1 asa! &
fauea o far 1, 39T T ISIEVI 3:

[Question ID = 752]

1. Positive Reinforcement / JhRIHD WUT [Option ID = 3005]
2. Punishment by removal / fSh gRT qUs [Option ID = 3006]

3. Punishment by application / GIEW‘TWE{U@ [Option ID = 3008]
4. Negative Reinforcement / W{[@’ﬁm [Option ID = 3007]

Correct Answer :-
 Positive Reinforcement / D RIHD ‘vﬁ?ﬁWﬂT [Option ID = 3005]

58) Programmed Instruction was developed by
Sifirspfira 3™ frad grT faw e fasar war ur?
[Question ID = 702]

1. Thomas Gilbert / Ty fresd [Option ID = 2807]

2. Norman A. Crowder / THA T. SIS [Option ID = 2806]
3. B.F. Skinner / .U, f&F-R [Option ID = 2805]

4. None of these / 378 ¥ PIs g [Option ID = 2808]

Correct Answer :-
« B.F. Skinner / §.T%. R&-R [Option ID = 2805]

59) Aschemais a
TP BT R

[Question ID = 732]



1. cognitive change. /Wqﬁﬁ?ﬁ [Option ID = 2928]

2. process of balancing old knowledge and new information. / TRTH I 3R 78 SHHR & Tdferd B Bt Ufsban
[Option ID = 2926]

3. process of taking in new information and experience. / :l'sn SMHRT 3R STHd Yg Ul P DI Ufehan [Option ID =
2927]

4. category of knowledge that allows us to interpret or understand the world. / 9 &1 9uft St g9 gfHaT &t aaren
FHR AT THF B AR ot § [Option ID = 2925]

Correct Answer :-
« category of knowledge that allows us to interpret or understand the world. / I @1 907 St g9 g &t
RSAT HA AT JHSH Pt A it § [Option ID = 2925]

60) In the 19th century, three new powerful tendencies of thought influenced all of the social
sciences. They were

194t 94t #, far 3t 9 7=t ufea=med ugfwal F Tt i fagei ot wwifaa fean 3
[Question ID = 734]

1. socialism, parochialism and evolution / JHISdIG, Tepiufdr 3R pitep-faera [Option ID = 2935]

2. cartesianism, positivism and evolution / HTESTIAATE!, TEATE 3R SHite-fadmRT [Option ID = 2936]
3. positivism, socialism and evolution / TI&dTe, THTSATE 3R HE-fae™ [Option ID = 2934]

4. positivism, humanitarianism and evolution / TI&dTe, HFAAIATG 3R HiH®-fa®RT [Option ID = 2933]

Correct Answer :-
« positivism, humanitarianism and evolution / U&&faTe, AFAAATG 3R HiHdH-[dd ™ [Option ID = 2933]

61) Choose the pair of theorists who have worked in similar areas.
a. Binet & Terman

b. Gardner & Sternberg

c. Piaget & Kohlberg

d. Freud & Erikson

RigiaeRi & g 1 g71d B, orgie aue &7 ¥ ord fBan)
a. faAe sik &=

b. MER 3R TeHa

c. TS 3R Hiaat

d. BTas 3R Tha=

[Question ID = 706]

1.a &b/ a 3R b [Option ID = 2822]
2.a&c/a 3R c[Option ID = 2823]
3.b &d/ b 3R d [Option ID = 2824]
4. c &b/ c 3R b [Option ID = 2821]

Correct Answer :-
« c&b/c 3R b [Option ID = 2821]

62) Systematic change in mental processes that underlie all learning and performance is referred to
as



Foft Wiwa 3R ve=i= &) Iws[ arelt Al uftrarsit # soaf®rd uRada & we1 sirar @
[Question ID = 722]

1. Cognitive Development / T3 fddb™ [Option ID = 2886]
2. Moral Development / EINCACEIR [Option ID = 2885]

3. Intellectual Development / Sifs® fawr [Option ID = 2888]
4. Physical Development / JIRIR&® fd&™T [Option ID = 2887]

Correct Answer :-
» Moral Development / EIRCACEI) [Option ID = 2885]

63) Anil is thirty years old and is unable to decide upon a career for himself. None of his jobs last
more than six months. He exhibits signs of

e @7 adf &1 7 3R Wad & I U e &1 919 & U § 3y 81 S9dT 318 i ST o ug |
e T aF T EaTI 5 SR veRfawvar

[Question ID = 738]

1. Identity achievement / UgdH Iudie [Option ID = 2950]
2. Identity diffusion / Ug=TH IR [Option ID = 2951]

3. Identity foreclosure / WWH [Option ID = 2949]

4. Moratorium / &R [Option ID = 2952]

Correct Answer :-
« Identity foreclosure / Wﬂ'\ﬁ'@iﬂ [Option ID = 2949]

64) Vygotsky theory must directly support cooperative learning strategies that are evident by
I & Rigid & e JRaq F e Joifaa)’ o1 gwds o Ty, o yamor g
[Question ID = 720]

1. Students in competition / ST & Ufcgef [Option ID = 2880]

2. Student helping each other in learning / 3F-8TA¢ Th @ EaR:IRCE =R [Option ID = 2877]

3. Students are role models for other students / BF-BEE 3 JIE-BESM & fom e % [Option ID = 2878]

4. One student helps all student to learn / T B I+t IF-BERH &) TRa & HAeq HRd/H! 8 [Option ID =
2879]

Correct Answer :-
« Student helping each other in learning / BTH-BHETY Tk gR &1 YRe= H Hee I8 & [Option ID = 2877]

65) Chairman of Calcutta University Commission was
Fawl fayfaemed 3maRT & el &
[Question ID = 728]

1. S. Radhakrishnan / T8 YT WA [Option ID = 2909]
2. Kothari / ®I6RT [Option ID = 2912]

3. Mudaliar / G&ferIR [Option ID = 2910]

4. Sadler / ¥R [Option ID = 2911]



Correct Answer :-
» S. Radhakrishnan / TH TYUTHWIF [Option ID = 2909]

66) Match the following symbol words with their respective schools of psychological theories:

I II
(i) Repressed desires (a) Functionalism
(ii) Introspection method (b) Structuralism
(iii) Heredity directs psychological development (c) Behaviorism
(iv) Humans are free to choose (d) Psycho-analysis

(e) Humanism

frraferfad fou T dd Wed! BT gUTHH I HAlAFIS Rigidl $f IrErs & Iy far a3:
I

II

(i) 3ffra srETg (V) wobrdarg

(i) Srerfa=eryr fafy (&) IREATEG

(iiii) 3rTIREar gy e F1 R HdAI g (3f) sageRag

(iv) 799 g1 & fore waa 3 (CHERRIEEELIRED
(%) HIFAdIdig

[Question ID = 753]

1. (i)-c, (i)-a, (iii)-b, (iv)- d / (i)=&, (i))-T, (iii)-&N, (iv)-3 [Option ID = 3009]
2. (i)-b, (ii)-d, (iii)-a (iv)-c / (i)-dll, (ii)-81, (iii)-T, (iv)-HI [Option ID = 3012]
3. (i)-d, (ii)-e, (ii)-b, (iv)-c / (i)-81, (ii)-3, (iii)-al, (iv)-HT [Option ID = 3011]
4. (i)-d, (ii)-b, (iii)-a, (iv)-e / (i)-S1, (ii)-dl, (iii)-Y, (iv)-3 [Option ID = 3010]

Correct Answer :-

o (i)-c, (ii)-a, (iii)-b, (iv)- d / (i)-, (ii)-T, (iii)-sN, (iv)-SI [Option ID = 3009]

67) Match the following based on Piaget’s theory of cognitive development

(1) Formal Operational Stage (a) Pretend Play

(2) Sensorimotor Stage (b) Ability to Conserve number, mass and weight
(3) Pre-operational Stage (c) Ability to think about logical possibilities

(4) Concrete Operational Stage (d) Achievement of Object Permanence

s & deTee e & figia & snur W fAufafaa 1 fam #9

(1) SiuaTe TfpaTd® ST (W) ATeH HRAT

(2) TASHRT SawT () F=T, ZHE 3R T P YT BT &HdT
(3) T4 fsparere e (&) aifhe Turanei & IR | Fra- St &mdr
(4) gd Sfeparere srawT () g RITfiaT $t Iuat

[Question ID = 748]

1. 1-b, 2-d, 3-c, 4-a / 1-d1, 2-81, 341, 4-T [Option ID = 2991]
2. 1-,2-b,3-a,4-d / 1-4%, 2-§}, 3-T, 4-8I [Option ID = 2992]

3. 1-c, 2-d, 3-a, 4-b / 1-4t, 2-81, 3-U, 4-d [Option ID = 2990]
4. 1-a, 2-¢, 3-b, 4-d / 1-U, 2-31, 34, 4-31 [Option ID = 2989]

Correct Answer :-
« 1-a, 2-c, 3-b, 4-d / 1-G, 2-31, 3-8, 4-3 [Option ID = 2989]



68) Sending personal reply to a whole online community is breach of
TS AUl SHiATS GG B AR 9 F IR T, SedT HIAT &
[Question ID = 693]

1. Security / gR&T T [Option ID = 2771]

2. Trust / f3%T &7 [Option ID = 2769]

3. Netiquette / e-fRIFER T [Option ID = 2770]
4, Legality / =IT-TTNTdT T [Option ID = 2772]

Correct Answer :-
« Trust / {99/ &7 [Option ID = 2769]

69) Swayam Prabha is

WU YT 8:
[Question ID = 665]

1. one DTH Channel / T EIRAE] EL | [Option ID = 2659]

2. a group of 32 DTH Channels / TG 7 BT U HHg [Option ID = 2660]

3. an independent online platform for learning / SHfTH & T T WA fiHas Hd [Option ID = 2658]

4. a part of (online) SWAYAM platform for learning / 3fFTH & T U& (3ITHeS) WE (SWAYAM) Hd &1 HFT
[Option ID = 2657]

Correct Answer :-

« a part of (online) SWAYAM platform for learning / 3ffRTH & T TH (3fTATE) WG (SWAYAM) Hd &1 HFT
[Option ID = 2657]

70) Among the learning disabilities, the name for a reading disorder is

SRR srraaarsi &, UoH fapR #T1aH 8

[Question ID = 743]

1. Dyscalculia / f&adag erT [Option ID = 2971]
2. Dysgraphia / f&@@fthar [Option ID = 2969]

3. Dysphasia / f$TWRMAT [Option ID = 2972]

4. Dyslexia / fewifayan [Option ID = 2970]

Correct Answer :-
« Dysgraphia / f&gufthar [Option ID = 2969]

71) Elaborative rehearsal is a way to transfer information from
'fIgd SnaT, TSR] T WFTART 31 ST T TPl &
[Question ID = 751]

1. Long Term Memory to Short Term Memory / AT o A @ 2T o A [Option ID = 3003]
2. Sensory Register to Short Term Memory / Tact e J e o gt A [Option ID = 3002]
3. Sensory Memory to Long Term Memory / Tad AHRT ¥ didaIferes AHRI T [Option ID = 3001]



4. Short Term Memory to Long Term Memory / i <d AR T 11 o AR [Option ID = 3004]

Correct Answer :-

« Sensory Memory to Long Term Memory / Fdc! HHRT ¥ diddIiaie HHRT H [Option ID = 3001]

72) For Dewey, children are

SN & forg, T &
[Question ID = 670]

1. active, dependent for guidance, problem-creating creatures / iy, rfee W) ﬁ'J-T'\’, JHYT DT Foiq A Tl
U1uft| [Option ID = 2679]

2. active, dependent for guidance, problem-oriented creatures / HW, ArfesHE W ﬁflﬁ, JHY-3HY oroft
[Option ID = 2677]

3. active, exploring, problem-solving creatures / fshd, 3{-ANUT &= AT, THW-JHTY B aTdl U0 | [Option
ID = 2678]

4. active, exploring, problem-oriented creatures / W, Qo ardl, JHY-3H9 oroft [Option ID = 2680]

Correct Answer :-

« active, dependent for guidance, problem-oriented creatures / dfshd, ANIGRM R 1R, Trer-3=@ wrof |
[Option ID = 2677]

73) Macaulay wrote his famous Minute on
ABTA A 9T YRS I9 Fa @ U
[Question ID = 718]

1. Feb. 2,1835 / Ra%l 2, 1835 [Option ID = 2870]
2. Feb. 2,1834 / ThRa3} 2, 1834 [Option ID = 2872]
3. Mar. 2,1835 / HT 2, 1835 [Option ID = 2869]
4. Mar. 2,1834 / HTg 2, 1834 [Option ID = 2871]

Correct Answer :-
e Mar. 2,1835/ A 2, 1835 [Option ID = 2869]

74) Geogebra, PhET, and Stellarium are some of the examples of

fRraiSisT, PhET 3R Rafaw $o 3revul §
[Question ID = 686]

1. Discipline Specific ICT Tools / fawa fafRmy o, 3.8, IuauT [Option ID = 2742]
2. Language Learning Tools / HINT STEATH IUHRI [Option ID = 2743]

3. Science Learning Tools / a3 31f&FTH IUHRT [Option ID = 2744]

4. Mathematics Learning Tools / TOIcd 3HfERTH IUHRUT [Option ID = 2741]

Correct Answer :-
« Mathematics Learning Tools / TIOTc 31fERTH FUHRUT [Option ID = 2741]



75) What is the value of coefficient of skewness in a Normal Probability Curve?
AT YTl 996 § T & NP HT 7 7 82
[Question ID = 688]

1. More than Zero / [ ¥ 34fdd& [Option ID = 2750]
2. Less than Zero / QEJ@[W [Option ID = 2751]

3. Zero / ][ [Option ID = 2749]

4. None of these / 378 ¥ P13 =gl [Option ID = 2752]

Correct Answer :-
o Zero [/ ][ [Option ID = 2749]

76) What type of data should be taken in Sampling?
THATHROT § {5 @RE & 3MHe oA A1fee?
[Question ID = 681]

1. Which can be easily studied. / FoRIepT 3100 ST ¥ faedT ST G 81 [Option ID = 2722]

2. Which can be easily selected. / fSR 3= § AT ST JobdT 81 [Option ID = 2721]

3. Which represents the whole population. / St Gt SFRREAT FT WA & &1 [Option ID = 2723]
4. None of these. /s_rl'ﬁf J Tﬁ'ﬁ“ EHii [Option ID = 2724]

Correct Answer :-
« Which can be easily selected. / R ST ¥ AT &1 bdl 81 [Option ID = 2721]

77) Common School System was recommended by
‘P TP d Rivew’ Gxgfa fead gri &t g @iz
[Question ID = 744]

1. Kothari Commission / PHIGRT ST [Option ID = 2975]

2. Hunter Commission / €8¢ HHIRH [Option ID = 2976]

3. Secondary Education Commission / HTe&fH& fR1& 3ANT [Option ID = 2973]
4. National Education Policy 1986 / IT§1a fi&fT fifd 1986 [Option ID = 2974]

Correct Answer :-
» Secondary Education Commission / et Riem sma [Option ID = 2973]

78) Open Education Resources

o g dare=
[Question ID = 672]

1. cannot be non-digital resources / qiA-fefoTea Iamem 81 8 udhar %‘ [Option ID = 2688]
2. do not need any licenses / 1 fardil Ht SFIRITOR &1 SHTGRIHAT g1 Bt [Option ID = 2686]
3. permit no-cost access / Jed I(ed YA BT 3T 3T & [Option ID = 2687]

4. are proprietary resources / ot I91eA § [Option ID = 2685]



Correct Answer :-
« are proprietary resources / TUftie TTTY § [Option ID = 2685]

79) A teacher made her student work one extra hour during break for not finishing class assignment
on time. The following is an example of

TS fR&® 7 U B G THT WR BT B GRT 7 H & (¢ SaRTa & THY T Sifafvad g¢ HTH Ham|
fFrafafeq feaer seevu g

[Question ID = 701]

1. Positive Reinforcement / JhRTHD g-w’m-ﬁ T [Option ID = 2803]
2. Punishment / QUS &1 [Option ID = 2802]

3. Negative Reinforcement / THRIHD gdelrﬂd ] [Option ID = 2804]
4. Reward / YR¥HR DI [Option ID = 2801]

Correct Answer :-
e Reward / YIPR DI [Option ID = 2801]

80) Inclusive societies need to recognize the presence of diverse citizens by providing:
a. Barrier free environments

b. Advocates to ensure implementation of Disability reservation

c. Educational facilities that benefit diverse learners

d. Toilet facilities in public spaces

Choose the correct response or responses

T Jure | fafay amfvet 9t Sufifa <t uga= F GRT ITAR HIA P ATIAPT 2
T. 3(aRIY Gad qTdravor

oY, SRIAT REVT & FRTaa B AT 3 & fore dgfa

. Afere glawnd, =it fafay Rrenfiay « aruf<a #3

3. wrdwe vl & araa @) gy

Tl ufaferar a1 ufaftkarait &1 gAmg 39:

[Question ID = 699]

1.a, ¢ &d/ T, I 3R & [Option ID = 2793]

2. All of these / T g} [Option ID = 2795]

3. None of these / T8 ¥ &I g [Option ID = 2796]
4. b &c /&t 3R I [Option ID = 2794]

Correct Answer :-
e a,¢ &d/ T I 3R St [Option ID = 2793]

81) The accepted value of Existentialists is:
Jfrarteal &1 Wigpd 4w 8:
[Question ID = 737]

1. Freedom / ¥adadl [Option ID = 2945]
2. Symmetry in nature / E@ﬁlﬁ‘v‘lﬂm [Option ID = 2946]
3. Enlightenment / 3THIITH [Option ID = 2948]



4. Credentials / JHTIOIG AT [Option ID = 2947]

Correct Answer :-
« Freedom / ¥ad=dl [Option ID = 2945]

82) The report of the National Education Commission is entitled as

Y & ST ¥ URde B Wids 3
[Question ID = 736]

1. Education and National Development / fRI&fT ﬁ?w@aﬁw [Option ID = 2941]
2. Learning by doing / @xd IRa-T [Option ID = 2944]

3. Integrated development / Ty faer™ [Option ID = 2943]

4. National Development Report / IT81g fdeh™ Ufdda [Option ID = 2942]

Correct Answer :-
« Education and National Development / fR1&T 3R 51T fa®T™ [Option ID = 2941]

83) The symbolic aspect of introducing local crafts and production related skills and knowledge in
the school, in Gandhi’s basic education was:

e P gfrardt fRien & siaifa wpa rarearl # wig Rie 3R Iare ot HIva quT 79 & R 3
P Ydtd &Y § HROT YT:

[Question ID = 684]

1. Allocation of a substantive place in the school to systems of protest developed by oppressed groups. / uﬁ%?r
! gRT fhT MY fRlY Wey &1 fqemad & Th Ayl RIM &1 3TdeH [Option ID = 2734]

2. Allocation of a substantive place in the school to systems of manufacturing developed by oppressed groups. /
fifsa Tgl gRT faw R Sdre Yol & faenaa § Ue Agayqul ®IF &1 3fder [Option ID = 2733]

3. Allocation of a substantive place in the school to systems of resistance developed by oppressed groups. / ﬁ%‘d
! g1 [awRid ufeRly aawi1 o1 faeed § Ue Ag@yul ®IM &1 3fde [Option ID = 2736]

4. Allocation of a substantive place in the school to systems of knowledge developed by oppressed groups. / Eﬁﬁs’a

TRl gRT A Rid IM-faw vomeht &1 faare™ # T He@yqul R &7 3ide [Option ID = 2735]

Correct Answer :-
« Allocation of a substantive place in the school to systems of manufacturing developed by oppressed groups.

| difsd TogE! gRT faeiid Sare yumeh @1 faea # te Ae@yul ®IM @1 3ide [Option ID = 2733]

84) The purpose of which Convention is to “promote, protect and ensure the full and equal
enjoyment of all human rights and fundamental freedom by all persons with disabilities and to
promote respect for their inherent dignity”.

fora g@ed &1 3=y "t R & gRT 9t AraiRie Ry 8k qayd Tadsar S 9¢rar 341, T&T ST
3R 3R 31 FAifga T & e grem & gffda s @i

[Question ID = 660]

1. All of these / & Tt [Option ID = 2640]
2. The Universal Declaration of Human Rights, 1948 / A4 3R] & WdHIHE BN, 1948 [Option ID = 2638]



3. The UN Convention on the Rights of Persons with Disabilities, 2006 / f&eaiTT safekidl & SMUBRI TR GG Y
T, 2006 [Option ID = 2639]
4. The Rights of People with Disabilities Act, 2016 / fqaaiToI &1 IBR fAFTH, 2016 [Option ID = 2637]

Correct Answer :-
« The Rights of People with Disabilities Act, 2016 / f&aiToA! &1 3fYBR HfAFFTH, 2016 [Option ID = 2637]

85) The syndrome of autism refers to which of the following difficulties in the developing child?

STATIHIE BT w&fvr faeRia arae ot Fufiafad & A 57 siegal @) @efifa szar 22
[Question ID = 678]

1. Disturbance in eye-hand coordination / 3HiE-g1Y IHag | a1 [Option ID = 2712]

2. Impairment in social behavior and relatedness to others / ARG TAER 3R GERT & 1Y gl H g1
[Option ID = 2711]

3. Impairment in the ability to solve puzzles / BRG] ﬁﬂ%ﬂer P &I | g [Option ID = 2709]

4. Delay in the capacity to associate names with faces / gl & TTY A1 B! T B DI &HAT H 1 [Option ID
= 2710]

Correct Answer :-
« Impairment in the ability to solve puzzles / gl P Ja= &I &HdT H BT [Option ID = 2709]

86) The Staff College was renamed as National Institute of Educational Planning and Administration
in

TIH HIAS T ATH IGADHR A T Iege Th TIPS Wi TS TSR I@m 1
[Question ID = 741]

1. 2001 [Option ID = 2964]
2. 1980 [Option ID = 2963]
3. 1984 [Option ID = 2962]
4. 1976 [Option ID = 2961]

Correct Answer :-
» 1976 [Option ID = 2961]

87) The idea of schools clearly came from the two communities Gandhi had established in
South Africa, started in 1904, and , which was established in 1910, provided him with
a lasting interest and faith in the potential of life in a

farermeray &1 faar Ty ¥u |, ich grR fEor snpier # wirfiq fear e S weral @ sman g,
St 1904 ¥ YR= farar T, 3R St 1910 ¥ Rifua farar war T, o Sfta &t gmar o
S it ¥ wd fayr wer fan

[Question ID = 715]

1. Productive, Phoenix Farm, Wardha Ashram, rural commune / 3dTG®, Hifa 1?h"l'l:f, guf 3T, UTHT qqar
[Option ID = 2860]

2. Productive, Phoenix Farm, Tolstoy Farm, rural commune / 3dIq®, Bie tI?"I'l-ll, CIeET™g trTl'lfr, T qHqa™
[Option ID = 2858]



3. Village, Phoenix Farm, Wardha Ashram, Village society. / TTid, W< WIH, guf 313, T17d AT [Option ID =
2859]

4. Village, Tolstoy Farm, Phoenix Farm, Village society. / 9, << tﬁ]ﬁ, HifeT Eh"l'f[, 9 9ISl [Option ID =
2857]

Correct Answer :-
« Village, Tolstoy Farm, Phoenix Farm, Village society. / UTH, TTeReTd WTH, I WTH, TT7d JHTS [Option ID
= 2857]

88) The concept of Blended-learning does not involve
Afef3a- 3T Y Heeusn afRRa 78 sd 2
[Question ID = 700]

1. Integration of different media and methods together / fafire Tre SR fafery &t TP 1Y TDHIHRT [Option ID =
2798]

2. Integration of all ways of traditional methods of teaching together / RI&T &1 TRERTTG Al &1 Te a1y
ThIHRUT [Option ID = 2800]

3. Integration of all ways of communicating electronically together / Qﬁﬂ@ﬁﬁﬂ Tt YR T TR &1 TH 1Y
TPHIHRUT [Option ID = 2799]

4. Integration of Classroom and e-learning together / F&fT 3R $-3(fARTH T Tep WY TehIHRT [Option ID = 2797]

Correct Answer :-

« Integration of Classroom and e-learning together / @&l 3R $-3(feRTH BT Teh JTY ThIBRUT [Option ID =
2797]

89) The Right to Education Act attempts to put power in local hands through local bodies. Which of
the following is not responsible for the implementation for this Act?

fren @1 PR iffraw- T el & 1w Q, R gl § i 81 &1 9919 $Id1 81 59
ftfrag & erafaga & fore Fafif@d 8 @ o9 TR 78 22

[Question ID = 708]

1. State Commission for Protection of Child Rights / STl 3{fIRI & TR&(UT & foTd I AT [Option ID = 2831]
2. Village Development Officer / T8 fd®™ 3fYHRY [Option ID = 2829]

3. National Advisory Council / IT§1d JalgeR URYG [Option ID = 2832]

4. School Management Committees / fagTerd Ueie AfAfaAT [Option ID = 2830]

Correct Answer :-
« Village Development Officer / TH fa®m {fIHRT [Option ID = 2829]

90) The major focus of the National Policy on Education 1968 was to relate education to

fRram o= it AT 1968 o1 gw@T 5 foeg fRam & weiftra am
[Question ID = 682]

1. National development and child’s rights. /TI@?J AP 3R 7= & 3R [Option ID = 2725]
2. National development and social change. /T@H I SR gmTfore uRad= [Option ID = 2727]
3. National development and vertical mobility. / JTS1T fIT SR Jreafer TR [Option ID = 2728]



4. National development and health system. / TFQ’IH Iy iR Wy sgawiT [Option ID = 2726]

Correct Answer :-

« National development and child’s rights. / ITS1T fITE 3R = & SHfUHR [Option ID = 2725]

91) The method of Induction was given by which of the following thinkers.
TS faft, Frafafae faaret 3 @ fead grr & g A2
[Question ID = 724]

1. Russell / I8d [Option ID = 2895]
2. Mill / T [Option ID = 2893]

3. Hicks / {1 [Option ID = 2896]
4. Dewey / SIdT [Option ID = 2894]

Correct Answer :-
« Mill / i@ [Option ID = 2893]

92) The Constitution of India grants the right to religious minorities to conserve their language,
script and culture and to establish their educational institutions based on religion and language
under

YR &1 Tfaur, aifife sreqaere! ot 3-a! T, fRift oiv IRpfa & Tveror o1 fieR 3k 391d ol wd
YT IR Srenfa Afdre dwim=t &) ¥ Siaifa wifia w31 & e ReR a1 31

[Question ID = 710]

1. Article 28 and 30. / 3{J=&5¢ 28 3R 30 [Option ID = 2838]
2. Article 28 and 29. / 3¢ 28 3fR 29 [Option ID = 2840]
3. Article 29 and 30. / 3fw5¢ 29 3R 30 [Option ID = 2837]
4. Article 27 and 28. / Hﬂ%‘c{ 27 3R 28 [Option ID = 2839]

Correct Answer :-
« Article 29 and 30. / 3fT&5¢ 29 3R 30 [Option ID = 2837]

93) The difficulty in dealing with equality in education as a theory is its exasperating vagueness
because

TP Rrgid & =0 ¥, ‘R1en & &3 A arar # S131E, U, W= H34 arell 3RUydl & $RUT 8, Fifh
[Question ID = 691]

1. it is based on a political and philosophical meaning of equality. / Ig JHHdI & U JoHiad Td ariF® of )R
3eTRd 81 [Option ID = 2761]

2. it has a complicated meaning with interesting implications. / 39H Sifed 31 & Ty I fAfedrd §1 [Option ID
= 2762]

3. it purports that all children’s life can't be theorized. / Sd®T ST % & Tt =t & e &1 FgTITHROT Bl
faa1 ST gehdT | [Option ID = 2764]

4. it treats all alike, which offends against the notions of appropriateness. / dg 3 gt & 1Y TH I TTER
Fat g, S ot Sugarreii B URom & fa%g 3MmaTd S &1 [Option ID = 2763]



Correct Answer :-

« itis based on a political and philosophical meaning of equality. / I8 JHFT & U IJSHITd® Td g 31
TR 31T § 1 [Option ID = 2761]

94) The Rights of Persons with Disabilities Act, 2016 provides for the right of free education to
every child with benchmark disability between the age group of

fawai afeadl o1 iR AffaH, 2016, AwdiTdaTr o Ud® T B gud fR1am 1 RGR UeH w1 §
MNaPTIRR S, 98 Pamgaf F w2

[Question ID = 703]

1. 0 and 18 years / 0 3R 18 ITd [Option ID = 2810]
2.0and 14 years/ 0 3R 14 91 [Option ID = 2809]
3.6 and 18 years / 6 3R 18 ITd [Option ID = 2812]
4.6 and 14 years / 6 3R 14 I1@ [Option ID = 2811]

Correct Answer :-
e Oand 14 years/ 0 3R 14 I [Option ID = 2809]

95) The aims of education are decided by what considerations?
fRren & Iy oy faR | Tu fPe o &2
[Question ID = 719]

1. Epistemological / ITHIARIT [Option ID = 2874]
2. Metaphysical / A<dHIHT [Option ID = 2873]
3. All of these / & T} [Option ID = 2876]

4. Ethical / Afd [Option ID = 2875]

Correct Answer :-
« Metaphysical / d@HIHNT [Option ID = 2873]

96) The pre board examination result of English of a school indicates that the mean is 79, median is
90 and mode is 95. Which of the following interpretations is correct on the basis of the relationship
between the measures of central tendency?

% faemaa & M-S udten o1 ufomy gxifar 8 fF sl ¥ urdis! &1 qea 79 €, HeAi® 90 § 3R 9gaid
95 31 H9 ugfa & ATal & i Faet F R W FuferfEa d @ $i9 W saren 9 82

[Question ID = 727]

1. Fifty per cent of the students have scored more than 79 marks. / GdI gfawa § $if¥e IEl A 79 3w i
3 €1 [Option ID = 2906]

2. Most of the students have performed poorly in the exam as indicated by a low Mean. / &H AWM Yobd dl &
% B o @ sifiwir 3 oden & W19 WeRH a1 g1 [Option ID = 2905]

3. The mean is pulled towards the left due to a few students scoring low marks. / $& B! GRT HH 3% Ui &
PRI, HLHH dT3 3R Wil g3 g1 [Option ID = 2907]

4. The class performance reflects the latest trend of students scoring high marks even in languages. / P&l LR

BE P HIST g | 1} I 3k U B3 B AdaH TRy &I <2iaT g1 [Option ID = 2908]



Correct Answer :-

o Most of the students have performed poorly in the exam as indicated by a low Mean. / ®H HEHA Tobd <l
g fr ot & ¥ aiftretwr 3 udien & @Re weR far g1 [Option ID = 2905]

97) The objectives of DPEP are

Srdigdt & 3R §
[Question ID = 747]

1. all of these. / & |ft [Option ID = 2988]
2. to reduce difference in enrolment, drop out and learning achievement among gender and social groups to less

than 5 percent. / o1, ST THE! & o AHi®H, U SR YR &1 Igafs H 3faR &1 5 Ufawd ¥ &4
HRATI [Option ID = 2985]

3. to raise average achieved level. / 3 gd Ut IR deI1 [Option ID = 2987]

4. to reduce overall primary dropout rates for all students to less than 10 per cent. / gt s & Pd
IS 3Ueqg &1 & DI 10 YA & HH HAT| [Option ID = 2986]

Correct Answer :-
« to reduce difference in enrolment, drop out and learning achievement among gender and social groups to

less than 5 percent. / feiTT, T THE! & T AR, U IR WRaA &1 Iuafl & iR &I 5 ufa=ra
%H HATI [Option ID = 2985]

98) The author of ‘Small is Beautiful’, is
"Hild g9 AP’ & 4GP §

[Question ID = 729]

1. Parsons / OTI=d [Option ID = 2916]

2. Hicks / {8 [Option ID = 2913]

3. Dewey / Stat [Option ID = 2915]
4. Schumacher / RHI®X [Option ID = 2914]

Correct Answer :-
« Hicks / f8d4 [Option ID = 2913]

99) The term ‘Continuous’ as interpreted in ‘Continuous and Comprehensive Evaluation’ does not
relate to which of the following aspects?

Tad 3R AP i § "Haa’ ug 1 sare, fFrafafaa & ¥ frad wata g 82
[Question ID = 667]

1. Diagnosis of learning gaps / 3fTRTH 3{cRTd &I G [Option ID = 2666]

2. Application of variety of techniques to assess the learner’s development / Rremff & faewTa &1 sfewe B &
fafay da-te &1 TG [Option ID = 2667]

3. Use of corrective measures / JURTHD JUTTT BT TART [Option ID = 2668]

4. Regularity and frequency of assessment / fafyddr sik e—nqi%[ &1 3fiha [Option ID = 2665]

Correct Answer :-



« Regularity and frequency of assessment / fafEddr 3R M1gfT &1 e [Option ID = 2665]

100) One of the five guiding principles of the NCF-2005 are:
T -2005 & UiT ARieRi® Rigid § 9 U §
[Question ID = 698]

1. ensuring that learner is shifted away from rote methods. / Y& arait faftral & Rremeff &1 gr ge gFfda &
[Option ID = 2791]

2. making examinations fair, more professional and stricter. / Tiemaft o ﬁm&r, i qﬁ@ 3R T § A
[Option ID = 2792]

3. designing a new curriculum for the entire country. / IR <=1 & oTT T UTSUHH &1 AT ST [Option ID =
2789]

4. improving all the wrongs in the educational policy. / fRrem e o Tt Tafaat &1 JYR AT [Option ID = 2790]

Correct Answer :-

« designing a new curriculum for the entire country. / 9% <=1 & foIT 7T UTGUsHY &1 AT ST [Option ID =
2789]



